BID OPENING DATE: JANUARY 24, 2007

		BID OPENI	NG DA	IL. JANUAN	1 24, 2007			
Ref.	Item				ENGINEE	R'S ESTIMATE	Reyno	olds Inliner
No.	No.	Description	Qty.	Unit	Price	Amount	Price	Amount
1	202	15" Pipe Removed	350	LF	\$30.00	\$10,500.00	\$15.00	\$5,250.00
2	207	Inlet Protection	2	EA	\$42.00	\$84.00	\$54.00	\$108.00
3	252	Permanent Pavement Replacement, Type 1	215	SY	\$170.00	\$36,550,00	\$105.00	\$22,575.00
4	614	Maintaining Traffic		Lump Sum	\$10,000.00	\$10,000.00	\$3,400.00	\$3,400.00
5	623	Construction Layout Stakes	1	Lump Sum	\$15,000.00	\$15,000.00	\$1,300.00	\$1,300.00
6	624	Mobilization	1	Lump Sum	\$17,500.00	\$17,500.00	\$8,300.00	\$8,300.00
7	901	15-Inch PVC Pipe w/Type I Bedding	350		\$50.00	\$17,500.00	\$198.00	\$69,300.00
8		Bypass Pumping		Lump Sum	\$5,000.00	\$5,000.00	\$8,800.00	\$8,800.00
9	SS-7	Cementitious Grouting	300		\$55.00	\$16,500.00	\$54.00	\$16,200.00
10	SS-8	15-Inch Open Cut Point Repair (MH0451S0103 to099)	1		\$10,000.00	\$10,000.00	\$54.500.00	\$54,500.00
11		Replace Manhole Frame & Cover	49		\$10,000.00	\$73,500.00	\$1,400.00	\$68,600.00
12		Rehabilitate Bench and Channel	1		\$775.00	\$73,300.00	\$1,400.00	\$88,800.00
13		Raise/Reconstruct Manhole to Grade	7		\$1,000.00	\$7,000.00	\$840.00	\$5,880.00
14		Cementitious Manhole Rehabilitation	487	VF	\$200.00	\$97,400.00	\$181.00	\$88,147.00
15		Flexible Chimney Seal	49		\$500.00	\$24,500.00	\$535.00	\$26,215.00
16	SS-12		6,435		\$35.00	\$225,225.00	\$29.00	\$186,615.00
17	SS-12	8-Inch Cured in Place Pipe (CIPP), 6MM Min Thickness	490		\$40.00	\$19,600.00	\$36.00	\$17,640.00
18		15-Inch Cured in Place Pipe (CIPP) 9MM Min Thickness	2,542		\$60.00	\$152,520.00	\$39.00	\$99,138.00
19		36-Inch Cured in Place Pipe (CIPP) 18MM Min Thickness	96		\$480.00	\$46,080.00	\$208.00	\$19,968.00
20		42-Inch Cured in Place Pipe (CIPP) 19.5MM Min Thick	254	LF	\$640.00	\$162,560.00	\$182.00	\$46,228.00
21		Lateral Sewer Re-established W/O Excavation	274		\$160.00	\$43,840.00	\$102.00	\$27,400.00
22		Trim Protruding Lateral Sewer	30		\$220.00	\$6,600.00	\$270.00	\$8,100.00
23		Cured in Place Lateral Pipe	18		\$1,200.00	\$21,600.00	\$2,775.00	\$49,950.00
24		Flow Monitors Allowance (Complete & Installed)	3		\$8,000.00	\$24,000.00	\$5,950.00	\$17,850.00
25	Spec	15-Inch Storm Sewer Open Cut Point Repair (50 LF)	1	1	\$10,000.00	\$10,000.00	\$14,500.00	\$14,500.00
26	Spec	Lateral Sewer Wye Connection	4		\$2,500.00	\$10,000.00	\$749.00	\$2,996.00
27	207	Bale Filter Dike	100		\$4.00	\$400.00	\$1.00	\$100.00
28	207	Perimeter Filter Fabric Fence	500	LF	\$3.00	\$1,500.00	\$1.00	\$500.00
29	207	Construction Seeding & Mulching	1,000	SY	\$2.00	\$2,000.00	\$0.55	\$550.00
30	604	Manhole, Type C	5	EA	\$10,500.00	\$52,500.00	\$4,300.00	\$21,500.00
31	SS-2	Repair Water Service	2	EA	\$700.00	\$1,400.00	\$1.00	\$2.00
32	SS-2	Repair Electric Service	2	EA	\$500.00	\$1,000.00	\$1.00	\$2.00
33	SS-2	Repair Telephone Service	2	EA	\$475.00	\$950.00	\$1.00	\$2.00
34	SS-2	Repair Gas Service	2	EA	\$1,000.00	\$2,000.00	\$1.00	\$2.00
35		Repair Sewer Service	2	EA	\$1,000.00	\$2,000.00	\$1.00	\$2.00
36	SS-2	Repair Cable/Communications Service	2	EA	\$500.00	\$1,000.00	\$1.00	\$2.00
37		Chemical Grouting	100	GAL	\$50.00	\$5,000.00	\$53.50	\$5,350.00
38	SS-8	8-Inch Open Cut Point Repair	1		\$9,000.00	\$9,000.00	\$6,000.00	\$6,000.00
39	SS-8	12-Inch Open Cut Poitn Repair	1		\$10,000.00	\$10,000.00	\$6,300.00	\$6,300.00
40	SS-9	Internal Host Pipe Repair	10		\$10,000.00	\$100,000.00	\$160.50	\$1,605.00
41		Dewatering Wellpoint	5		\$5,000.00	\$25,000.00	\$2,675.00	\$13,375.00
42	SS-11	Lateral Sewer Dye Tested	50		\$100.00	\$5,000.00	\$150.00	\$7,500.00
43	Spec	Force Account (.20 X Sum of Items 1 thru 42)	1	Lump Sum	\$256,516.80		#########	\$186,404.40
		TOTAL PROJECT COSTS	-			\$1,539,100.80		\$1,118,426.40
		% DIFFERENCE FROM ENGINEER'S ESTIMATE				N/A		-27.33%
		Bond Amount						\$111,842.64
	Bonding Company				Travelers Casualty & Sure			asualty & Surety
	Proposal Bond Amount Required							\$111,842.64
		Contract Compliance No. (Page P-3C)			01-0684			01-0684682
		Non-Collusion Affidavit Completed? (Page P-29)						Yes
		Local Vendor? (Page P-4)						No
		Addendum Acknowledgement Completed? (Page P-4)(2-	Addend	a)				Yes-1
I	Proposal Affidavit Completed? (Page P-34)							Yes

BID OPENING DATE: JANUARY 24, 2007

No	Ref.	Item	RID OPEN			,	R'S ESTIMATE	Insitufo	orm (MO)	
1			Description	Otv	Unit	1				
2			· · · · · · · · · · · · · · · · · · ·							
3										
4   614   Maintaning Traffic										
6							,			
6   624   Mobilization			,							
SS-30   Sysas Pumping   1   Lump Sun   \$5,000   \$17,500   \$193,40   \$67,960.00			·	1						
8 SS-3 Bypass Pumping				1	-					
SS-7  Cementitious Grouting   S9,450.00   S10,500.00   S11,500.00   S13,500.00										
10   SS-8   15-Inch Open Cut Point Repair (MH0451S0103 to099)			7	1	<u> </u>	\$5,000.00	\$5,000.00	\$10,200.00	\$10,200.00	
11   SS-10   Replace Manhole Frame & Cover   49   EA   \$1500.00   \$373,800.00   \$333,50.00   \$362,272   \$525,712   \$351.00   \$375,000   \$375,000   \$322,72   \$352,712   \$351.00   \$375,000   \$322,72   \$352,712   \$351.00   \$375,000   \$322,72   \$352,712	9		Ü	300	CF	\$55.00	\$16,500.00	\$31.50	\$9,450.00	
12   SS-10   Rehabilitate Bench and Channel   1   EA   \$175.00   \$175.00   \$262.70   \$320.70	10							\$53,512.70	\$53,512.70	
13   SS-10   Carentifusus Manhole Rehabilitation   487   VF   S00000   \$7,00000   \$825,000   \$5,778.00   \$5,778.00   \$5,778.00   \$5,778.00   \$5,879.00   \$5,878.00   \$5,878.00   \$5,878.00   \$5,878.00   \$5,878.00   \$5,878.00   \$5,878.00   \$5,878.00   \$5,878.00   \$5,878.00   \$5,879.			'						\$66,277.40	
14   SS-10   Cementitious Manhole Rehabilitation   487   VF   \$200.00   \$97.400.00   \$177.60   \$86.491.21	12					\$775.00	\$775.00	\$262.70	\$262.70	
SS-10   Flexible Chimney Seal   49   EA									\$5,775.00	
SS-12   S-Inch Cured in Place Pipe (CIPP) 9MM Min Thickness   6,435   LF   \$35.00   \$222.52.50   \$27.91   \$179.000.81									\$86,491.20	
17   SS-12   T-S-Inch Cured in Place Pipe (CIPP) 9MM Min Thickness   5,542   LF   \$6,00   \$152,520   0 \$47.50   \$132,0745.01     19   SS-12   36-Inch Cured in Place Pipe (CIPP) 19MM Min Thickness   96   LF   \$6,00   \$46,080.00   \$200.10   \$192,096.01     20   SS-12   24-Inch Cured in Place Pipe (CIPP) 19MM Min Thickness   96   LF   \$64,00   \$46,080.00   \$200.10   \$192,096.01     21   SS-12   Lateral Sewer Re-established W/O Excavation   274   EA   \$16,00   \$162,550.00   \$223.70   \$518,929.01     22   SS-12   Cured in Place Pipe (CIPP) 19MM Min Thick   254   LF   \$64,00   \$162,550.00   \$223.70   \$518,370   \$518,770.00     22   SS-12   Cured in Place Pipe (CIPP) 19MM Min Thick   254   LF   \$64,00   \$162,550.00   \$224,70   \$183.79   \$55,770.00     23   SS-25   Cured in Place Pipe   8   EA   \$12,000.00   \$21,600.00   \$21,600.00   \$23,670.00   \$200.70   \$46,771.80     24   Spec   Flow Monitors Allowance (Complete & Installed)   3   EA   \$18,000.00   \$21,600.00   \$21,600.00   \$300.00   \$300.00     25   Spec   Lateral Sewer Wye Connection   4   EA   \$10,000.00   \$10,000.00   \$10,074   \$11,074     25   Spec   Lateral Sewer Wye Connection   4   EA   \$10,000.00   \$10,000.00   \$10,000.00   \$10,074   \$11,074     26   Spec   Lateral Sewer Wye Connection   4   EA   \$10,000.00   \$10,0										
17   SS-12   T-S-Inch Cured in Place Pipe (CIPP) 9MM Min Thickness   5,542   LF   \$6,00   \$152,520   0 \$47.50   \$132,0745.01     19   SS-12   36-Inch Cured in Place Pipe (CIPP) 19MM Min Thickness   96   LF   \$6,00   \$46,080.00   \$200.10   \$192,096.01     20   SS-12   24-Inch Cured in Place Pipe (CIPP) 19MM Min Thickness   96   LF   \$64,00   \$46,080.00   \$200.10   \$192,096.01     21   SS-12   Lateral Sewer Re-established W/O Excavation   274   EA   \$16,00   \$162,550.00   \$223.70   \$518,929.01     22   SS-12   Cured in Place Pipe (CIPP) 19MM Min Thick   254   LF   \$64,00   \$162,550.00   \$223.70   \$518,370   \$518,770.00     22   SS-12   Cured in Place Pipe (CIPP) 19MM Min Thick   254   LF   \$64,00   \$162,550.00   \$224,70   \$183.79   \$55,770.00     23   SS-25   Cured in Place Pipe   8   EA   \$12,000.00   \$21,600.00   \$21,600.00   \$23,670.00   \$200.70   \$46,771.80     24   Spec   Flow Monitors Allowance (Complete & Installed)   3   EA   \$18,000.00   \$21,600.00   \$21,600.00   \$300.00   \$300.00     25   Spec   Lateral Sewer Wye Connection   4   EA   \$10,000.00   \$10,000.00   \$10,074   \$11,074     25   Spec   Lateral Sewer Wye Connection   4   EA   \$10,000.00   \$10,000.00   \$10,000.00   \$10,074   \$11,074     26   Spec   Lateral Sewer Wye Connection   4   EA   \$10,000.00   \$10,0			8-Inch Gured in Place Pipe (CIPP), 6MM Min Thickness						-	
SS-12   36-Inch Cured in Place Pipe (CIPP) 18MM Min Thickness   96   LF   \$480.00   \$44.080.00   \$200.10   \$192.096			Thiskness							
SS-12   A2-Inch Cured in Place Pipe (CIPP) 19.5MM Min Thick   Z54   LF   \$6.40.00   \$162,560.00   \$243.70   \$61,8998   \$21   \$S-12   Trim Protruding Lateral Sewer   30   EA   \$220.00   \$6,600.00   \$133.80   \$0.5517.01   \$22.00   \$3.810.00   \$21,600.00   \$183.90   \$3.5517.01   \$22.00   \$3.810.00   \$21,600.00   \$21,600.00   \$26,07.30   \$47,291.44   \$41,000.00   \$21,600.00   \$26,607.30   \$47,291.44   \$41,000.00   \$21,600.00   \$26,607.30   \$47,291.44   \$41,000.00   \$21,600.00   \$26,607.30   \$47,291.44   \$41,000.00   \$21,600.00   \$26,607.30   \$47,291.44   \$41,000.00   \$21,600.00   \$26,007.30   \$47,291.44   \$41,000.00   \$41,007.40   \$41,0			,	,					\$120,745.00	
SS-12   Lateral Sewer Re-established W/O Excavation   274   EA			,						\$19,209.60	
SS-12   Tim Protruding Lateral Sewer   30   EA   \$220.00   \$6,600.00   \$183.90   \$5,517.00			. , ,							
SS-25   Cured in Place Lateral Pipe   18										
Spec   Flow Monitors Allowance (Complete & Installed)   3   EA   \$8,000.00   \$24,000.00   \$0.00   \$0.00			ŭ							
25   Spec   15-Inch Storm Sewer Open Cut Point Repair (50 LF)										
26   Spec   Lateral Sewer Wye Connection			( 1 ,							
207   Bale Filter Dike		•	. , , ,							
28			,							
29										
30   604   Manhole, Type C   5   EA   \$10,500.00   \$52,500.00   \$4,136.50   \$20,682.50   \$31   \$S\$-2   Repair Water Service   2   EA   \$700.00   \$1,400.00   \$1.10   \$2.20   \$32   \$S\$-2   Repair Electric Service   2   EA   \$500.00   \$1,000.00   \$1.10   \$2.20   \$33   \$S\$-2   Repair Telephone Service   2   EA   \$475.00   \$950.00   \$1.10   \$2.20   \$34   \$S\$-2   Repair Gas Service   2   EA   \$1,000.00   \$2,000.00   \$1.10   \$2.20   \$35   \$S\$-2   Repair Service   2   EA   \$1,000.00   \$2,000.00   \$1.10   \$2.20   \$35   \$S\$-2   Repair Cable/Communications Service   2   EA   \$1,000.00   \$2,000.00   \$1.10   \$2.20   \$36   \$S\$-2   Repair Cable/Communications Service   2   EA   \$500.00   \$1,000.00   \$1.10   \$2.20   \$37   \$35\$-6   Chemical Grouting   100   GAL   \$50.00   \$5,000.00   \$55.50   \$5,250.00   \$38   \$5\$-8   B-Inch Open Cut Point Repair   1   EA   \$9,000.00   \$5,000.00   \$5,751.80   \$5,751.80   \$5.										
SS-2   Repair Water Service   2   EA   \$700.00   \$1,400.00   \$1.10   \$2.20				,						
SS-2   Repair Electric Service   2   EA   \$500.00   \$1,000.00   \$1.10   \$2.20			, ,1							
SS-2   Repair Telephone Service   2   EA   \$475.00   \$950.00   \$1.10   \$2.20			1							
SS-2   Repair Gas Service   2   EA   \$1,000.00   \$2,000.00   \$1.10   \$2.20			'						\$2.20	
SS-2   Repair Sewer Service   2   EA   \$1,000.00   \$2,000.00   \$1.10   \$2.20									\$2.20	
SS-2   Repair Cable/Communications Service   2   EA   \$500.00   \$1,000.00   \$1.10   \$2.20		SS-2	'						\$2.20	
SS-6   Chemical Grouting   100   GAL   \$50.00   \$5,000.00   \$52.50   \$5,250.00									\$2.20	
SS-8   S-Inch Open Cut Point Repair   1   EA   \$9,000.00   \$9,000.00   \$5,751.80   \$5,751.80			·						\$5,250.00	
SS-9   Internal Host Pipe Repair   10   SF   \$10,000.00   \$100,000.00   \$126.10   \$1,261.00	38	SS-8	8-Inch Open Cut Point Repair	1	EA	\$9,000.00			\$5,751.80	
SS-10   Dewatering Wellpoint   S   EA   \$5,000.00   \$25,000.00   \$525.50   \$2,627.50	39	SS-8	12-Inch Open Cut Poitn Repair	1	EA	\$10,000.00	\$10,000.00	\$6,047.10	\$6,047.10	
SS-11   Lateral Sewer Dye Tested   50   EA   \$100.00   \$5,000.00   \$128.20   \$6,410.00	40					\$10,000.00	\$100,000.00	\$126.10	\$1,261.00	
Spec   Force Account (.20 X Sum of Items 1 thru 42)	41					\$5,000.00	\$25,000.00	\$525.50	\$2,627.50	
### TOTAL PROJECT COSTS ### \$1,539,100.80 #### \$1,135,931.60 #### N/A #### Bond Amount #### Bonding Company #### Travelers Casualty & Surety  ### Proposal Bond Amount Required #### Contract Compliance No. (Page P-3C) ### Non-Collusion Affidavit Completed? (Page P-29) #### Local Vendor? (Page P-4) ### Addendum Acknowledgement Completed? (Page P-4)(2-Addenda) #### \$1,539,100.80 #### \$1,135,931.60 #### C-26.20% ####################################	42	SS-11	,	50	EA	\$100.00	\$5,000.00	\$128.20	\$6,410.00	
% DIFFERENCE FROM ENGINEER'S ESTIMATE  Bond Amount  Bonding Company  Proposal Bond Amount Required  Contract Compliance No. (Page P-3C)  Non-Collusion Affidavit Completed? (Page P-29)  Local Vendor? (Page P-4)  Addendum Acknowledgement Completed? (Page P-4)(2-Addenda)  N/A  -26.20%  Strate  13,585.44  Travelers Casualty & Surety  \$113,593.16  \$13-3032156  13-3032156  Yes-Call Vendor (Page P-4)  Addendum Acknowledgement Completed? (Page P-4)(2-Addenda)	43	Spec	Force Account (.20 X Sum of Items 1 thru 42)	1	Lump Sum	\$256,516.80	\$256,516.80	\$189,321.93	\$189,321.93	
Bond Amount Bonding Company Travelers Casualty & Surety  Proposal Bond Amount Required \$113,593.16 Contract Compliance No. (Page P-3C) Non-Collusion Affidavit Completed? (Page P-29) Local Vendor? (Page P-4) Addendum Acknowledgement Completed? (Page P-4)(2-Addenda)  \$118,585.44 Travelers Casualty & Surety \$113,593.16 \$13-3032156			TOTAL PROJECT COSTS				\$1,539,100.80		\$1,135,931.60	
Bonding Company  Proposal Bond Amount Required \$113,593.16 Contract Compliance No. (Page P-3C) Non-Collusion Affidavit Completed? (Page P-29) Local Vendor? (Page P-4) Addendum Acknowledgement Completed? (Page P-4)(2-Addenda)  Travelers Casualty & Surety \$113,593.16 Contract Compliance No. (Page P-3C) 13-3032158 Yes-			% DIFFERENCE FROM ENGINEER'S ESTIMATE				N/A		-26.20%	
Proposal Bond Amount Required \$113,593.16 Contract Compliance No. (Page P-3C) 13-3032156 Non-Collusion Affidavit Completed? (Page P-29) Yes Local Vendor? (Page P-4) Not Addendum Acknowledgement Completed? (Page P-4)(2-Addenda) Yes-			Bond Amount						\$118,585.44	
Contract Compliance No. (Page P-3C)  Non-Collusion Affidavit Completed? (Page P-29)  Local Vendor? (Page P-4)  Addendum Acknowledgement Completed? (Page P-4)(2-Addenda)  13-3032158  Yes-			Bonding Company					Travelers Ca	sualty & Surety	
Non-Collusion Affidavit Completed? (Page P-29)  Local Vendor? (Page P-4)  Addendum Acknowledgement Completed? (Page P-4)(2-Addenda)  Yes-		Proposal Bond Amount Required							\$113,593.16	
Local Vendor? (Page P-4)  Addendum Acknowledgement Completed? (Page P-4)(2-Addenda)  Yes-			Contract Compliance No. (Page P-3C)						13-3032158	
Addendum Acknowledgement Completed? (Page P-4)(2-Addenda)  Yes-			Non-Collusion Affidavit Completed? (Page P-29)						Yes	
			Local Vendor? (Page P-4)					1		
			Addendum Acknowledgement Completed? (Page P-4)(2-A	Addenda	a)			Yes		
		Proposal Affidavit Completed? (Page P-34)							Yes	

Computational error corrected Line item omitted

BID OPENING DATE: JANUARY 24, 2007

Ref.	Item	BID OPEN	IIIO Di	., ., ., ., ., .,		R'S ESTIMATE	Koko	osing
No.	No.	Description	Qty.	Unit	Price	Amount	Price	Amount
1	202	15" Pipe Removed	350	LF	\$30.00	\$10,500.00	\$0.01	\$3.50
2	207	Inlet Protection	2		\$42.00	\$84.00	\$25.00	\$50.00
3	252	Permanent Pavement Replacement, Type 1	215		\$170.00	\$36,550.00	\$85.00	\$18,275.00
4	614	Maintaining Traffic	1	Lump Sum	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00
5	623	Construction Layout Stakes	1	Lump Sum	\$15,000.00	\$15,000.00	\$500.00	\$500.00
6	624	Mobilization	1	Lump Sum	\$17,500.00	\$17,500.00	\$40,000.00	\$40,000.00
7	901	15-Inch PVC Pipe w/Type I Bedding	350		\$50.00	\$17,500.00	\$145.00	\$50,750.00
8	SS-3	Bypass Pumping	330	Lump Sum	\$5,000.00	\$5,000.00		
		7					\$250.00	\$250.00
9	SS-7	Cementitious Grouting 15-Inch Open Cut Point Repair (MH0451S0103 to099)	300	CF	\$55.00	\$16,500.00	\$80.00	\$24,000.00
10	SS-8		1 49	EA	\$10,000.00	\$10,000.00	\$45,000.00	\$45,000.00
11		Replace Manhole Frame & Cover Rehabilitate Bench and Channel	49	EA EA	\$1,500.00 \$775.00	\$73,500.00 \$775.00	\$1,450.00	\$71,050.00 \$1,000.00
		Raise/Reconstruct Manhole to Grade	7	EA			\$1,000.00	
13 14		Cementitious Manhole Rehabilitation	487	VF	\$1,000.00 \$200.00	\$7,000.00 \$97,400.00	\$1,350.00 \$155.00	\$9,450.00 \$75,485.00
15		Flexible Chimney Seal	49		\$500.00	\$24,500.00	\$265.00	\$12,985.00
16	SS-12		6,435		\$35.00	\$225,225.00	\$29.00	\$186,615.00
17	SS-12	8-Inch Cured in Place Pipe (CIPP), 6MM Min Thickness	490	LF	\$40.00	\$19,600.00	\$35.00	\$17,150.00
18		15-Inch Cured in Place Pipe (CIPP) 9MM Min Thickness	2,542	LF	\$60.00	\$152,520.00	\$54.50	\$138,539.00
19		36-Inch Cured in Place Pipe (CIPP) 18MM Min Thickness	96		\$480.00	\$46,080.00	\$230.00	\$22,080.00
20		42-Inch Cured in Place Pipe (CIPP) 19.5MM Min Thick	254	LF	\$640.00	\$162,560.00	\$338.00	\$85,852.00
21		Lateral Sewer Re-established W/O Excavation	274		\$160.00	\$43,840.00	\$140.00	\$38,360.00
22		Trim Protruding Lateral Sewer	30		\$220.00	\$6,600.00	\$275.00	\$8,250.00
23	SS-25	Cured in Place Lateral Pipe	18		\$1,200.00	\$21,600.00	\$2,500.00	\$45,000.00
24	Spec	Flow Monitors Allowance (Complete & Installed)	3		\$8,000.00	\$24,000.00	\$8,000.00	\$24,000.00
25	Spec	15-Inch Storm Sewer Open Cut Point Repair (50 LF)	1	EA	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
26	Spec	Lateral Sewer Wye Connection	4		\$2,500.00	\$10,000.00	\$500.00	\$2,000.00
27	207	Bale Filter Dike	100	LF	\$4.00	\$400.00	\$3.00	\$300.00
28	207	Perimeter Filter Fabric Fence	500	LF	\$3.00	\$1,500.00	\$2.00	\$1,000.00
29	207	Construction Seeding & Mulching	1,000	SY	\$2.00	\$2,000.00	\$1.00	\$1,000.00
30	604	Manhole, Type C	5	EA	\$10,500.00	\$52,500.00	\$500.00	\$2,500.00
31	SS-2	Repair Water Service	2	EA	\$700.00	\$1,400.00	\$1.00	\$2.00
32	SS-2	Repair Electric Service	2	EA	\$500.00	\$1,000.00	\$1.00	\$2.00
33	SS-2	Repair Telephone Service	2		\$475.00	\$950.00	\$1.00	\$2.00
34	SS-2	Repair Gas Service	2		\$1,000.00	\$2,000.00	\$1.00	\$2.00
35	SS-2	Repair Sewer Service	2	EA	\$1,000.00	\$2,000.00	\$1.00	\$2.00
36	SS-2	Repair Cable/Communications Service	2	EA	\$500.00	\$1,000.00	\$1.00	\$2.00
37	SS-6	Chemical Grouting	100	GAL	\$50.00	\$5,000.00	\$75.00	\$7,500.00
38	SS-8 SS-8	8-Inch Open Cut Point Repair 12-Inch Open Cut Poitn Repair	1	EA	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00 \$9,300.00
39 40	SS-8 SS-9	Internal Host Pipe Repair	10	EA SF	\$10,000.00 \$10,000.00	\$10,000.00 \$100,000.00	\$9,300.00 \$50.00	\$9,300.00
40	SS-10	Dewatering Wellpoint	5		\$10,000.00	\$100,000.00	\$100.00	\$500.00
42	SS-11	Lateral Sewer Dye Tested	50		\$100.00	\$5,000.00	\$150.00	\$7,500.00
43	Spec	Force Account (.20 X Sum of Items 1 thru 42)		Lump Sum	\$256,516,80	\$256,516.80	\$195.551.30	\$195,551.30
43	Opec	TOTAL PROJECT COSTS	'	Lump Sum	\$230,310.00	\$1,539,100.80	\$175,551.50	\$1,173,307.80
		% DIFFERENCE FROM ENGINEER'S ESTIMATE	-		-	\$1,539,100.80 N/A	•	-23.77%
		Bond Amount				IV/A		10% TAB
		Bonding Company					Liberty Mu	itual Ins Co
	Proposal Bond Amount Required  Contract Compliance No. (Page P-3C)							\$117,330.78
								31-1023518
		Non-Collusion Affidavit Completed? (Page P-29)						Yes
	Local Vendor? (Page P-4)							Yes
		Addendum Acknowledgement Completed? (Page P-4)(2-A	Addend	a)				Yes-1
		Proposal Affidavit Completed? (Page P-34)	.aaciiu	۵,				Yes
								1 03

BID OPENING DATE: JANUARY 24, 2007

Ref.	Item	BID OPENII				R'S ESTIMATE	Triton S	ervices Inc.
No.	No.	Description	Qty.	Unit	Price	Amount	Price	Amount
1	202	15" Pipe Removed	350		\$30.00	\$10,500.00	\$72.00	\$25,200.00
2	207	Inlet Protection	2	1	\$42.00	\$84.00	\$0.00	\$0.00
3	252	Permanent Pavement Replacement, Type 1	215	t	\$170.00	\$36,550.00	\$0.00	\$0.00
4	614	Maintaining Traffic	1		\$170.00	\$10,000.00	\$29,120.00	\$29,120.00
5	623	Construction Layout Stakes	1	· ·	\$15,000.00	\$15,000.00	\$8,943.00	\$8,943.00
6	624	Mobilization	1		\$17,500.00	\$17,500.00	\$6,500.00	\$6,500.00
7	901	15-Inch PVC Pipe w/Type I Bedding	350	· ·	\$17,300.00	\$17,500.00	\$273.00	\$95,550.00
8	SS-3	Bypass Pumping	330				\$11,600,00	u u
	SS-7	Cementitious Grouting			\$5,000.00	\$5,000.00		\$11,600.00
9		15-Inch Open Cut Point Repair (MH0451S0103 to099)	300		\$55.00	\$16,500.00	\$62.00	\$18,600.00
10	SS-8	Replace Manhole Frame & Cover	1 49		\$10,000.00 \$1,500.00	\$10,000.00 \$73,500.00	\$0.00 \$1,370.00	\$0.00
12		Rehabilitate Bench and Channel	1		\$1,300.00	\$73,500.00	\$1,370.00	\$67,130.00 \$1,185.00
13		Raise/Reconstruct Manhole to Grade	7		\$1,000.00	\$7,000.00	\$1,185.00	\$8,715.00
14		Cementitious Manhole Rehabilitation	487		\$200.00	\$97,400.00	\$1,245.00	\$97,400.00
15		Flexible Chimney Seal	49		\$500.00	\$24,500.00	\$565.00	\$27,685.00
16	SS-12	8-Inch Cured in Place Pipe (CIPP), 6MM Min Thickness	6,435		\$35.00	\$225,225.00	\$30.00	\$193,050.00
17	SS-12	12-inion Cured in Place Pipe (CIPP) 7.5iviivi iviin	490		\$40.00	\$19,600.00	\$66.00	\$32,340.00
18		15-Inch Cured in Place Pipe (CIPP) 9MM Min Thickness	2,542	ł	\$60.00	\$152,520.00	\$59.00	\$149,978.00
19		36-Inch Cured in Place Pipe (CIPP) 18MM Min Thickness	96		\$480.00	\$46,080.00	\$0.00	\$0.00
20		42-Inch Cured in Place Pipe (CIPP) 19.5MM Min Thick	254		\$640.00	\$162,560.00	\$0.00	\$0.00
21		Lateral Sewer Re-established W/O Excavation	274		\$160.00	\$43,840.00	\$191.00	\$52,334.00
22			30		\$220.00	\$6,600.00	\$784.00	\$23,520.00
23	SS-25	Cured in Place Lateral Pipe	18	EA	\$1,200.00	\$21,600.00	\$0.00	\$0.00
24	Spec	Flow Monitors Allowance (Complete & Installed)	3	EA	\$8,000.00	\$24,000.00	\$6,660.00	\$19,980.00
25	Spec	15-Inch Storm Sewer Open Cut Point Repair (50 LF)	1	EA	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00
26	Spec	Lateral Sewer Wye Connection	4	EA	\$2,500.00	\$10,000.00	\$260.00	\$1,040.00
27	207	Bale Filter Dike	100	LF	\$4.00	\$400.00	\$20.00	\$2,000.00
28	207	Perimeter Filter Fabric Fence	500		\$3.00	\$1,500.00	\$6.00	\$3,000.00
29	207	Construction Seeding & Mulching	1,000		\$2.00	\$2,000.00	\$3.00	\$3,000.00
30	604	Manhole, Type C	5		\$10,500.00	\$52,500.00	\$3,380.00	\$16,900.00
31	SS-2	Repair Water Service	2		\$700.00	\$1,400.00	\$1,300.00	\$2,600.00
32	SS-2	Repair Electric Service	2		\$500.00	\$1,000.00	\$2,600.00	\$5,200.00
33	SS-2 SS-2	Repair Telephone Service Repair Gas Service	2		\$475.00	\$950.00	\$2,600.00	\$5,200.00
34 35	SS-2	Repair Sewer Service	2		\$1,000.00 \$1,000.00	\$2,000.00 \$2,000.00	\$2,275.00 \$6,500.00	\$4,550.00 \$13,000.00
36	SS-2	Repair Cable/Communications Service	2		\$1,000.00	\$1,000.00	\$2,600.00	\$5,200.00
37	SS-6	Chemical Grouting	100		\$50.00	\$5,000.00	\$180.00	\$18,000.00
38	SS-8	8-Inch Open Cut Point Repair	1		\$9,000.00	\$9,000.00	\$8,400.00	\$8,400.00
39	SS-8	12-Inch Open Cut Poitn Repair	1		\$10,000.00	\$10,000.00	\$8,900.00	\$8,900.00
40	SS-9	Internal Host Pipe Repair	10	SF	\$10,000.00	\$100,000.00	\$210.00	\$2,100.00
41	SS-10	Dewatering Wellpoint	5	EA	\$5,000.00	\$25,000.00	\$10,500.00	\$52,500.00
42	SS-11	Lateral Sewer Dye Tested	50	EA	\$100.00	\$5,000.00	\$19.00	\$950.00
43	Spec	Force Account (.20 X Sum of Items 1 thru 42)	1	Lump Sum	\$256,516.80	\$256,516.80	##########	\$206,874.00
		TOTAL PROJECT COSTS				\$1,539,100.80		\$1,241,244.00
		% DIFFERENCE FROM ENGINEER'S ESTIMATE				N/A		-19.35%
		Bond Amount						\$108,440.00
	Bonding Company Proposal Bond Amount Required						Ohio Far	mers Ins. Co
								\$124,124.40
		Contract Compliance No. (Page P-3C)						75-3093886
		Non-Collusion Affidavit Completed? (Page P-29)						No
		Local Vendor? (Page P-4)						No
		Addendum Acknowledgement Completed? (Page P-4)(2-	Addend	a)				No-1
		Proposal Affidavit Completed? (Page P-34)						Yes
							Computation	

Computation error
Non Conforming Bid
Line item omitted